
GASOLINA

1585,1756,1995

831E5.046;834A4.000;834F2.000;838A4.000

835C2.000;835C4.000;836A5.000;836A6.000;836C4.000

831C5.046;834B.146;834B1.000;834B1.146;834C1.000;835A5.0
00;835A5.046;835A8.000;835A8.046;835C5.000;836A5.000;836
A6.000

064.76;149C2.000;154C3.000;154C3.046;154C4.000;154C4.046;
159A4.000;159A4.046;159A5.046;159A6.011;159A6.046;831B7.
046;834B.146;834C.146;835A2.000;835C2.000;835C4.000;836A

REST OF ENGINES

81007500

81007300

81007300

81007300

81007500

M10X1.25X172(10)

M10X1.25X115(10)

M10X1.25X115(10)

M10X1.25X115(10)

M10X1.25X172(10)

CHECK CATALOG

5) 90º

4) 90º
3) -90º+7 Kpm
2) 7 Kpm
1) 3 Kpm1

2

3

4

5

1) 22 lbft
2) 51 lbft
3) -90º+51 lbft
4) 90º

5) 90º1

2

3

4

5

1, 2, 3, 4, 5

1

2

3

4

5

84

1) 3 Kpm
2) 6 Kpm
3) -90º+6 Kpm
4) 90º

5) 90º

1) 2 Kpm
2) 4 Kpm
3) -90º+4 Kpm
4) 90º

5) 90º

1) 2 Kpm
2) 6 Kpm
3) -90º+6 Kpm
4) 90º

5) 90º

1) 3 Kpm
2) 7 Kpm
3) -90º+7 Kpm
4) 90º

5) 90º

1) 22 lbft
2) 43 lbft
3) -90º+43 lbft
4) 90º

5) 90º

1) 15 lbft
2) 29 lbft
3) -90º+29 lbft
4) 90º

5) 90º

1) 15 lbft
2) 29 lbft
3) -90º+29 lbft
4) 90º

5) 90º

1) 22 lbft
2) 51 lbft
3) -90º+51 lbft
4) 90º

5) 90º

NO NO1, 2, 3, 4, 5

1

2

3

4

5

ALFA ROMEO, FIAT, LANCIAR01062410067800


